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150 ("5 mawp) 2> 16b (w70 TP 3WH KRIIN)

Note: the first mwn lists 10 7713 25109 — either people (1), status (12I8) or positions (2wp) that, if o777 1537 is done by one of them or in this
status or manner, invalidates the 2. This session only deals with the first two...the rest will be listed as they are assayed by the X9,
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I = mwn: listing of 10 w909 - people, statuses or positions — that if 077 n%ap was done by them — invalidates the 1277
a 1 (non-jn3):
i source: "9 —v.1-2"11>01p cannot be excluding 0w 127p (from NRMVA ATIY NO’R) or D™IY 127p; since PR isn’t
nxIn, must be nkmVa MY MOR
1 rather: must be excluding »11 from nTay- and if they do so, it is Yonn
il source: " 27 Rin: learnt via 1"p from DN Yya:
1 if: a o Yv3, who may partake of nnap, but if he did nmay it is 108 ("H9n”)
2 then certainly: a 71, who may not partake, invalidates nay
(a) challenge: 1 Yp1is unique, in that it equates the animal (for n'mn) with the officant
3 learn from Xpv:. a RnY is unique to TN (not 127p); yet if he does nxkmva nTay —5»n
(a) block: ®xnv has the ability to extend nkm1v to others (untrue about min-5»a and 1)
4 combination (7¥71 7n3): they are prohibited from nmay and if they violate — 5»'n = 7t is prohibited and is Yonn
(a) question:what is the source for the prohibition of 912 112y, that we can use the above reasoning?
(i) cannot be: v. 1 — that itself states 9% (i.e. if it referred to 912 N1y, no need for T8N NN3)
(ii) rather:v.2
5  challenge: the Mwn 7% (DI YY1 RNY) are not permitted even on a nna (1 is — e.g. YRINY offered 127p at H3%))
(a) answer: substitute 11X for xnv
(i) block: 1R is TwYNa MOR
(b) learn from: mn YYa — combination, w/ same follow-up question as before — both n”pa & 118 are Nnaa Mor
(i) challenge: who's to say that nnaa moR 1118?
6 rather (Nwwp 77): inferred from 1wy viaV'p
(a) if: a 2wy, who may eat (while seated), but whose nmay invalidates
(b) then certainly: 1, who may not eat, would invalidate any nmay in which he takes part
(i) challenge: someone who is seated is also unable to testify (unlike 1)
1. defense: a seated n"n may testify (i.e. sitting is not an inherently flawed ny1y)
(if) response: but the category of "awv” is invalid
1. defense: 2wV W (the category) does not concern ®Xwwn "
2. alternatively: we use 2wy and any one of the above (118 ,Xnv , 01 Y1)
3. and: we know that 2wy is permitted at a nna (anticipating above challenges) per v. 3-'1 1125 only
b 1M (mourner on day one of his relatives died and was buried)
i source: v. 4 - implying that anyone besides %113 105> who doesn’t leave wTpn (for funeral of relative) - 55n
1 &7 v.5-1R answers nWn — 212"1pn 10 = had they brought (as 1anR for their brothers), would have been %%n
(a) question: why didn’t X" use v. 4?
(i) answer: it doesn’t state the inverse — (and there are other reasonable implications)
(b) question: why doesn’t p"n use v. 5?
(i) ‘answer: he maintains that that nnin was burned due to nkmv that affected it
ii  source: " 27 RN —”p from DN Hya:
1 if: a o 53, who may eat ('pn), yet if he does nmay — Y»n
2 then certainly: an 1R, who may not eat (his portion), if he performs nmay — 5»n
(a) challenge: i 5y1is unique, in that the animal and officant share that potential deficiency
(b) defense: 9t disproves that correlation
(c) challenge: 7t is unique in that he has no “fix” to be able to participate — unlike 28
3 rather: the common denominator of o Yva and 1t prove My;
(a) just as: they are prohibited from nmay and if they worship, 195n; so too with 11
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(i) question: what is the source for N2y MR for an |IR?
1. cannot be: v. 4; already implies %19’n and no need for v'p
2. must be: v. 5 — and »"1 »a7 RN must hold that the 1279 (on *»nwn DY) was burnt due to mar
(b) challenge: to T80 nNna —both 91 and N Hya have no permitted state (¥955n yaimn r5)
(i) which is untrue: about an MR — that is, 313, who offers as an & (but may not eat)
(ii) defense: Xnv disproves this — because he does have a 1’0 (NRMV1 81 NOA) — yet is Yonn
1. block: Xnv is unique in that he can extend his nrmv further (DR Xnvn)
2. save: the others (mn Yya and 11) disprove that correlation, as neither of them extends their deficiency
(iii) question: why not challenge that none of them (xnv ,n”ya ,71) were permitted to 3”13 for T’ 129p
1. note: which doesn’t hold for 1318, where he is allowed to officiate
2. answer: the category of nkmv does have a 1nn, which is enough to set up Mwn T¥n
4 nw7wp 7 infers from 2wy via v'p
(a) if: 2wy, who may eat, yet he invalidates nmay
(b) then certainly: 1938, who may not eat, will invalidate nmay
(i) challenge: 20V is MYTYY 00
1. block: n"n may testify while seated
2. however: the category of 2w which is mTYY Y108
(ii) answer: WM "1 does not consider 21wy DY” - the category of 2wy — as significant
(iii) and even: if he accepts that challenge, 1138 908 can be inferred from 2wy and any one of the others
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